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630.1.

Munterpaan, ¢

3nece Bcioay s > 0.

Sx’ ln(x+s8)dx =
‘S' Lla(x4+s)dx =

Sx‘ln(x—{—s) dx =

JOTAPHOMHUECKHE &YHKIHM f627
omepKamue §=(x*—q?)h
{ln(x+s)dx=xln(x+s)—s. [Cu. 782.]
‘S‘xln(xﬂ—s)dx_(%z——)ln(x-‘« =2, ICu, 732.1.]
2 s _ s Cw. 732.2
3 ﬂ(x—f—s)—'g'—?. [Cym, . -]
3 3 4
(%——%) In (x4 s)—
—3 2 atxs, [Cw. 732.3.]
5 1 2 4
S
[Cm. 732.4.}
1 xP+idy
1n(x—{~ )—mg [p#=—1].

Sr”ln(x—i—s)dx_

[Cm. 261.01—267.01 u 732.9.]
1 1 a* 1.3 a* |

j—ln< +‘l/_—'1>dx"—7 )+2322+248a

1:3-5
+ o 6,j.+ [x/a>1]. [Cwm. 733.1.]
S In (i.j_ D gy = . In (x+s)+__ arcsec ’— ]
[0 << arcsec | x/a | << /2], [Cum, 733.2.]
S'-’lﬁ‘xj—”d e = R [Cw. 733.3.]
In (x-5) In (x4 s)

S__—xf’ dx=_(p—~1)x!’-‘+ —leP“s [p,—,{:]}.

glnsin xdx=xIn

.x"

719845

=—x1n>2—

[Cw. 281.01—284.01 u 733.9.]

¥«
XX
22’1—1 B x2ﬂ+l -
Ty e 0<r<nd
[Cu. 45.] [Murerpupys 603.1.]
sin2x sin4f  sinbx
2 2.2 2.3%

[0 <<x<<n]. [Mnrerpupys 603.2.]
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630.2. Sln €08 X dX = — o — e
__%—d’m’x2n+1_‘“ lx2<:ﬂ:z/4-]. [CM. 45.]
[Unterpupys 603.3.]

sin 2x sin 4x | sin 6x

=—xIn2+ 3.9¢ + 9.32
[x* << m*[4]. [MuTerpupys 603.4.]

630.3. Slntgxdx=xln x—x-{-ﬁ—}—%ﬁ—}-

62¢7 9 (92n=1_1Y B, op4q
‘it TR EEy ¢ T

[0<x<nf2]. [Cu. 45.] [Muverpupys 603.6.]

631.1, Ssinlnxdx:%xsin lnx——;—xcoslnx.

[

631.2, Scos 1nxdx=—l—xsinlnx—|—Lx cos In x.

a
632. g e 1nxdx——e“"lnx—-——-S " dx. [Cv. 568.1.]
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